FRRFE—REFZVMFERTR(FPERREEZOHINF)
AR A TS B TR
B F
SRR MBS TR
/5%
&5 —IRELR &1 —HREHE

1 % i 6 6 55 0
N T SR B 1,771 1,594
BB OB E 33 32 885 275
ih 13 = fIE =B 42 32 229 132
X b £ E R OK — v & 86 80 150 41

B 15 #o# 63 62
RTINS % & 19 19 66 6
moT % m m 302 288 38 23
I R i 67 67 6 6
= E 3 Hr #B 34 28 243 209
HOZ R B - B 5 % 70 67 213 28
k&R i 21 21 269 146
+ K i 30 30 6,093 1,610
= H =) 18 5 4 4
% & =& & =2 159 148 2,645 305
z = N =B 710 6/ 145 34

5 = & F

& &t 1,004 949 13,110 4,412

CEFHEMOHKEZTISGHELEBEOBRFAXRGZEIEEALIZLOTHY . RADHEIZELWT—HLEWMGEELAHYFET,




